Speedy facts | need to learn

Number bonds to 1000

If | know
3+7=10
# Then
30+70=100
So
300 + 700 = 1000

Complete for all the number
bonds to 1000

+/-1, 10, 100 from a 3 digit
number

For example

123 -1 123 +1

123-10 123+10

123-100 123 +100

Which digits change?

COMPLEMENTS TO 100

79]
21
37]
63
66|
34
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25] [ss] [8s] [3s] [ss]
75| |as] [15] [65] [11]
32] [18] [24] [31] [a2]
68| [82] [76] |69] [s8
62| [57] [19] [aa] [72]
38 |43] [81] |s6] [28]

+ 150 = 1000 + 710 = 1000

330 + = 1000 | 650 + = 1000

+ 760 = 1000 + 620 = 1000

40 + =1000 | 590 + = 1000

+160 = 1000 + 220 = 1000

60 + =1000 | 790 + =1000

+ 155 = 1000 + 715 = 1000

335 + =1000 | 655 + =1000
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40 90
70 20
80 50 |
10 30 |
50 60

570 +

= 1000

30 more makes 600,
400 more makes 1000,

430

Times tables practise - you will need to recall all your times tables.

You can time yourself or make up songs to help you. Or LOGIN to Times Tables Rockstars to practise!




